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Tăng Band IELTS Writing 
Task 2: Bí Quyết Dùng 
Cohesive Devices Hiệu Quả 
 

Hãy tham khảo bài mẫu sau: 

 

Referencing/Substitution (Từ tham chiếu/Từ thay thế): là những từ được tô màu 

xanh ở đoạn dưới 

Discourse markers and linking words (Cụm/ từ nối và liên kết): là những từ được tô 

màu vàng ở đoạn dưới 

 

Recently more married couples around the world are making a conscious 

decision not to have children. This essay will discuss some of the advantages 

and disadvantages of doing so, both in terms of the personal and professional 

freedom it brings as well as the isolation it can entail. 

Giải thích nhanh: ‘doing so’; ‘it’ = ‘making a conscious decision not to have 

children’  

Chief among the reasons why many couples are choosing not to have children 

is the general level of personal freedom that they are able to experience. 

Having children means added responsibility. It means organizing one’s life 

around the needs of a child. For couples who love to travel, this could be the 

reason that they are not able to take a trip as often as they would otherwise 

like or go to destinations as exotic as they might prefer. It also means extra 

stress when trying to balance the demands of work with those of the family. 

For instance, many female lawyers find the long hours required for promotion 
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at most prestigious law firms incompatible with the obligations of raising a 

child.  

 

Giải thích nhanh:  ‘they’ = ‘couple choosing not to have children’ 

            ‘it’ = ‘having children’ 

  ‘those’ = ‘demands’ 

‘Chief among the reasons’: Cụm này chỉ ra lý do quan trọng nhất, và 

thông thường, điều quan trọng nhất sẽ được nhắc đến đầu tiên. 

 

Yet, despite the potential benefits to a couple’s personal and professional lives, 

there remain drawbacks as well. One notable downside to remaining childless 

is the sense of social isolation that many couples without kids report feeling. 

Since having a child is still a rite of passage in most people’s lives, couples 

without children can find it harder to move in the same social circles as their 

decision not to become parents makes it more difficult for them to relate to 

their peers who already are. 

 

Giải thích nhanh:‘their’; ‘them’ = ‘couples without children’ 

Từ "are" được làm rõ ý nhờ từ "parents" đã xuất hiện trước đó, vì vậy 

không cần thiết phải lặp lại.  

‘Yet, despite the potential benefits to a couple’s personal and 

professional lives, there remain drawbacks as well.’ Câu này đóng vai 

trò như một cầu nối khi chuyển từ những lợi ích được đề cập ở đoạn 

trước sang những bất lợi ở đoạn này. (Hãy thử đọc bài viết mà bỏ qua 

câu này để nhận ra việc tạo ra những câu chuyển mượt mà thế này có 

thể cải thiện sự liên kết trong bài ra sao.) 
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To sum up, while choosing not to have a baby can spell great personal and 

professional flexibility for couples, it can also be the reason for loneliness and 

social anxiety. 

 

Giải thích nhanh:  ‘it’ = ‘choosing not to have a baby’ 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 


